0000000 B (4)

goood

kotaro@math.titech.ac. jp
http://www.math.titech.ac.jp/ kotaro/class/2014/calc2/

2014.10.29


http://www.math.titech.ac.jp/~kotaro/class/2014/calc2/

oon
00O00000000000ooood

100 300 00 0 12:00

ooooooooogd



good

Q O00o<Lu<LlOOObOvOOOODOOOOOODO
oboooooooooooooooooooooooog
oooooOobor»oO0o0bOO0O0b0OoO0O0oDoOobooOooo
oooooooooz

A: 000000000000 obobobobbwebOOOO
OOr00000DO0O0b0O0O0OD o< u<1OO?Y OO
gboogoobooboobbooboobobon

Q OD0O000OOoO0oOoOO00oDOoOobOoOoUoboooboOooo
gboooooooooooooooooooooooog
uboobooobodboo =0b0oobobooooonobg
ooooooooooooooo?

A 00D00o0ooooooboobooooooooon
oooodo =sdo0oo0go
0000 x=1/60000000000 x=0.1666... OO
000 0166 <x< 0167000000

BT —37



goooobooogoon

Q Taylr 000OOO0OD0OODR? soopp0OO
DO0O00Ryi(h)=o(h") 000000000 O000OO
oo?

A 00000000

Theorem (COOODODOO 3.1)
f(x)0 a0D0O00000O C"*i0 =

fla+h)="f(a)+f'(a)h+---+ %f(”)(a)h" + Rnt1(h)

oooo |imR"+—1(h):0.
h—0 hn )

=o(g(x X a immz
)=o) (x> & lm f5=0 (0034)

TRy E



good

Q: 00000000000 Oarctanx O sinx 0000 x=0
000000000000000R(KX)/x%, R(x)/x® 0O
x—»000000000000000000000000
000000000000000000007?

A: 00000000 f(x)=tan'x 00000000 310
n=52a=0h=x00000000000000000
000000000 R(x)000O00003100000
R(x)/x* -0 (x—0)000000000000 3100
00000000000000000000000000
0000000000000

Q 00000 (§)=10000000000(3)=-100
oooooo?

A: 000, (5)=1000000

(2) :a(a—l)..l.d(a—kﬂ) (k> 0) <g> »

(00000 29000)
BATE 57




goooobobodd

Q p.220031100000000380000000000
0000000000000000000
f(x)=log(l4+x)0 C*-0000000 31000000
000000000000000003100000000
038000000000000000000000000
000000000000000

A "C*-000000D0 3.10000D00O0O0boO0oO0"DooOd
oooon
gobooboboo290booooboboobooboboog
gbooboooobooboooob 31ogboobooboon
ooOoc>-0oo0ooboodbOn—oco000O0ODOO
R.+1(h) 0000 00000000 ODOOOOOO

BT



goooobbod

Theorem (OO0 DO OO 2.9)
f:al a+h000D000 (n+1)00000 =

f(a+h)=f(a)+ f'(a)h+ %f”(a)hZ +-o %f(”)(a)h” + Roy1(h)
pnt1

Rn-‘rl(h) = (n+ 1)|

firt(a4+0h), 0<fO<1 OO ODOODO.

Theorem (COOODO OO 3.8)
f:al a+h000D000 (n+1)00000 =

Rnv1(h) =

n

hn—|—1 1
| / (1= u)"F D (a 4 uh) du.
' 0

obooooboooooo

BONOET



goooobbod

Theorem (00O OODOO 3.1)
f:0a0000000 C™-0 = Ryp1(h) = o(h") (h— 0).

e JIDOOIDOOODOMA—0O0ODOOOODO

00000 hOOOOOODD0R1(h) =0 (n— +00) O
0000000

0311: 00000 x(-1<x=s1)0O0O0OO

1 1
log(1 +x) = x = 2x* 4 + (=1)"—x" + Ro1a(x)

00000 lim Ryyi(x) =0.

n—o0

go3ligbooobooooboobooon

ooooo

2014.10.29 8/1



[ 3.11
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